Direct and inverse bifurcation problems for nonlinear Sturm-Liouville problems

広島大学・大学院工学研究院 柴田徹太郎 (Tetsutaro Shibata)

Graduate School of Engineering

Hiroshima University

1 Introduction

We consider the nonlinear Sturm-Liouville problem

$$(1.1) -u''(t) + f(u(t)) = \lambda u(t), \quad t \in I := (0,1),$$

$$(1.2) u(t) > 0, \quad t \in I,$$

$$(1.3) u(0) = u(1) = 0,$$

where $\lambda > 0$ is a positive parameter. f(u) is assumed to satisfy the conditions (A.1)-(A.2):

(A.1)
$$f(u)$$
 is C^1 for $u \ge 0$ satisfying $f(u) > 0$ for $u > 0$. Furthermore, $f(0) = f'(0) = 0$.

(A.2)
$$f(u)/u$$
 is strictly increasing for $u \ge 0$. Moreover, $f(u)/u \to \infty$ as $u \to \infty$.

The following are the typical examples of f(u) which satisfy (A.1) and (A.2).

$$(1.4) f(u) = u^p \quad (u \ge 0),$$

(1.5)
$$f(u) = u^p + u^m \quad (u \ge 0),$$

(1.6)
$$f(u) = u^p \left(1 - \frac{1}{1 + u^2}\right) \quad (u \ge 0),$$

where p > m > 1 are constants.

Before stating our result, let us briefly recall some known facts (cf. [1]).

- (a) For each given $\alpha > 0$, there exists a unique solution $(\lambda, u) = (\lambda_q(\alpha), u_\alpha) \in \mathbf{R}_+ \times C^2(\bar{I})$ of (1.1)- (1.3) with $||u_\alpha||_q = \alpha$. Here, $||u_\alpha||_q$ is the L^q -norm of u_α , and $\lambda_q(\alpha)$ is called L^q -bifurcation curve.
- (b) The set $\{(\lambda_q(\alpha), u_\alpha) : \alpha > 0\}$ gives all solutions of (1.1)–(1.3) and is an unbounded curve of class C^1 in $\mathbf{R}_+ \times L^q(I)$ emanating from $(\pi^2, 0)$. Furthermore, $\lambda_q(\alpha)$ is strictly increasing for $\alpha > 0$ and $\lambda_q(\alpha) \to \infty$ as $\alpha \to \infty$.

The objective here is to discuss inverse bifurcation problems for nonlinear Sturm-Liouville problems from an asymptotic point of view.

The direct bifurcation problem, that is, for a given nopnlinear term f(u), the problem to investigate the local and global behavior of bifurcation curve has a long history and has been studied by many authors. We refer to [1-17] and the references therein. However, it seems that there exists a few works concerning inverse bifurcation problems. We only refer to [21].

Recently, the following basic result was obtained in [20].

Theorem 1.0 ([20]). Assume that $f_1(u)$ and $f_2(u)$ are unknown to satisfy (A.1) (A.2). Further, assume that the connected components of the set $V := \{u \geq 0 : f_1(u) = f_2(u)\}$ are locally finite. Let $\lambda_2(1,\alpha)$ and $\lambda_2(2,\alpha)$ be the L^2 -bifurcation curves of (1.1)-(1.3) associated with the nonlinear term $f(u) = f_1(u)$ and $f(u) = f_2(u)$, respectively. Assume that $\lambda_2(1,\alpha) = \lambda_2(2,\alpha)$ for any $\alpha > 0$. Then $f_1(u) \equiv f_2(u)$ for $u \geq 0$.

Motivated by the result above, we here introduce an asymptotic approach to inverse bifurcation problem for (1.1)–(1.3). To be more precise, we assume that the nonlinear term f(u) is unknown. Then we show that, if the asymptotic formula for the L^q -bifurcation curve $\lambda_q(\alpha)$ as $\alpha \to \infty$ is known precisely, then we are able to characterize the asymptotic property of f(u) for $u \gg 1$. Here, $1 \le q < \infty$ is a constant and we fix it throughout this paper. We call this idea asymptotic approach for inverse bifurcation problems.

As for the asymptotic behavior of $\lambda_q(\alpha)$ and u_α as $\alpha \to \infty$, it is known from [1] that

$$\frac{u_{\alpha}(t)}{\|u_{\alpha}\|_{\infty}} \to 1$$

locally uniformly on I as $\alpha \to \infty$. We set g(u) := f(u)/u. Then as $\alpha \to \infty$,

(1.8)
$$\lambda_{q}(\alpha) = g(\|u_{\alpha}\|_{\infty}) + \xi_{\alpha},$$

where $\xi_{\alpha} = O(1)$ is the remainder term. By (1.7), we see that $||u_{\alpha}||_{\infty} = \alpha(1 + o(1))$ for $\alpha \gg 1$. By this and (1.8), for $\alpha \gg 1$,

(1.9)
$$\lambda_{q}(\alpha) = g(\alpha) + o(g(\alpha)).$$

Motivated by (1.9), as a direct problem, more precise asymptotic formula for $\lambda_q(\alpha)$ as $\alpha \to \infty$ has been given in [18].

Theorem 1.1 ([18]). Let $f(u) = u^p$, where p > 1 is a given constant. Then as $\alpha \to \infty$.

(1.10)
$$\lambda_{a}(\alpha) = \alpha^{p-1} + C_{0}\alpha^{(p-1)/2} + C_{1} + o(1),$$

where

$$C_0 = \frac{2(p-1)}{q}C_2, \quad C_1 = \frac{2(p-1)}{q}C_2^2,$$

$$C_2 = \int_0^1 \frac{1-s^q}{\sqrt{1-s^2-2(1-s^{p+1})/(p+1)}}ds.$$

The formula (1.10) has been obtained first for q=2 in [15] by using the relationship between $\lambda_2(\alpha)$ and the critical value associated with $\lambda_2(\alpha)$.

From a view point of Theorems 1.1, we consider the following inverse problem.

Problem 1. Let f(u) be unknown to satisfy (A.1) and (A.2). Assume that as $\alpha \to \infty$,

(1.11)
$$\lambda_{q}(\alpha) = g(\alpha) + Ag(\alpha)^{1/2} + O(1),$$

where A > 0 is a constant. Then can you conclude that $f(u) = u^p$ for some constant p > 1?

To state our results, we assume additional conditions (A.3) and (A.4). We put $f(u) := u^p h(u)$.

(A.3) h(u) is a C^1 function for u > 0, and there exists a constant $\delta_0 > 0$ such that $h(u) \ge \delta_0$ for u > 0. Furthermore, for an arbitrary fixed constant $0 < \epsilon \ll 1$, as $u \to \infty$,

(1.12)
$$\max_{0 \le s \le 1} \left| \frac{uh'(us)}{h(u)} \right| = O((u^{p-1}h(u))^{-1/2}),$$

(1.13)
$$\max_{0 \le s \le \epsilon} s^p \left| \frac{uh'(us)}{h(u)} \right| = O((u^{p-1}h(u))^{-1/2}).$$

(A.4) There exists a constant $0 < \delta_1 \ll 1$ such that for $(1 + \delta_1)v > u > v \gg 1$,

$$(1.14) f(u) = f(v) + f'(v)(u-v) + O(f(v)/v^2)(u-v)^2.$$

The typical examples of h(u) (i.e. f(u)) satisfying (A.3) and (A.4) are:

$$h(u) = 1$$
 $(f(u) = u^p),$ $h(u) = 1 + u^{m-p}$ $(f(u) = u^p + u^m, 1 < m \le \frac{p+1}{2}).$

The answer to Problem 1 is as follows.

Theorem 1.2. Assume that all conditions in Problem 1, (A.3) and (A.4) are satisfied. Then $f(u) = u^p h(u)$ with $p = 1 + (qA)/(2C_2)$ and h(u) = D + d(u), where C_2 is a constant in Theorem 1.1, A is a constant in (1.11), D > 0 is an arbitrary positive constant and $d(u) = O(u^{(1-p)/2})$ for $u \gg 1$.

Remark 1.3. (i) The next inverse bifurcation problem we consider in a near future should be to establish the asymptotic uniqueness of unknown f(u) from the asymptotic behavior of $\lambda_q(\alpha)$ as $\alpha \to \infty$.

(ii) The condition (A.3) is not technical one. Indeed, if we consider $f(u) = u^5 e^u$ and q = 2, then $g(u) = u^4 e^u$ does not satisfy (A.3), and we know from [16] that as $\alpha \to \infty$

(1.15)
$$\lambda_2(\alpha) = \alpha^4 e^{\alpha} + \frac{\pi}{4} \alpha^3 e^{\alpha/2} + \frac{\pi}{4} u^2 e^{\alpha/2} (1 + o(1)),$$

which is different from (1.11). Therefore, (1.11) does not hold without (A.3).

2 Sketch of the Proof of Theorem 1.2

In what follows, C denotes various positive constants independent of $\alpha \gg 1$. We write (λ, u_{α}) for a unique solution pair of (1.1)–(1.3) with $||u_{\alpha}||_q = \alpha$. We begin with the fundamental

tools which play important roles in what follows. It is well known that

(2.1)
$$u_{\alpha}(t) = u_{\alpha}(1-t), \quad t \in I, \quad \|u_{\alpha}\|_{\infty} = u_{\alpha}\left(\frac{1}{2}\right),$$

(2.2)
$$u'_{\alpha}(t) > 0, \ 0 \le t < \frac{1}{2}.$$

Multiply (1.1) by $u'_{\alpha}(t)$. Then

$$(u_{\alpha}''(t) + \lambda u_{\alpha}(t) - f(u_{\alpha}(t))) u_{\alpha}'(t) = 0.$$

This along with (2.1) implies that

(2.3)
$$\frac{1}{2}u'_{\alpha}(t)^{2} + \frac{1}{2}\lambda u_{\alpha}(t)^{2} - F(u_{\alpha}(t)) = \text{constant}$$
$$= \frac{1}{2}\lambda \|u_{\alpha}\|_{\infty}^{2} - F(\|u_{\alpha}\|_{\infty}), \quad (\text{put } t = 1/2)$$

where $F(u) := \int_0^u f(s)ds$. We set

(2.4)
$$L_{\alpha}(\theta) = \lambda(\|u_{\alpha}\|_{\infty}^{2} - \theta^{2}) - 2(F(\|u_{\alpha}\|_{\infty}) - F(\theta)).$$

This along with (2.2) and (2.3) implies that for $0 \le t \le 1/2$

(2.5)
$$u'_{\alpha}(t) = \sqrt{L_{\alpha}(u_{\alpha}(t))}.$$

By this and (2.1), we obtain

$$||u_{\alpha}||_{\infty}^{q} - \alpha^{q} = 2 \int_{0}^{1/2} \frac{(||u_{\alpha}||_{\infty}^{q} - u_{\alpha}^{q}(t))u_{\alpha}'(t)}{\sqrt{L_{\alpha}(u_{\alpha}(t))}} dt = 2 \int_{0}^{||u_{\alpha}||_{\infty}} \frac{(||u_{\alpha}||_{\infty}^{q} - \theta^{q})}{\sqrt{L_{\alpha}(\theta)}} d\theta$$

$$= \frac{2||u_{\alpha}||_{\infty}^{q}}{\sqrt{\lambda}} \int_{0}^{1} \frac{1 - s^{q}}{\sqrt{B_{\alpha}(s)}} ds$$

$$= \frac{2||u_{\alpha}||_{\infty}^{q}}{\sqrt{\lambda}} \left\{ \int_{0}^{1} \frac{1 - s^{q}}{\sqrt{J(s)}} ds + \int_{0}^{1} \left(\frac{1 - s^{q}}{\sqrt{B_{\alpha}(s)}} - \frac{1 - s^{q}}{\sqrt{J(s)}} \right) ds \right\}$$

$$= \frac{2||u_{\alpha}||_{\infty}^{q}}{\sqrt{\lambda}} (C_{2} + M_{\alpha}),$$

where

(2.7)
$$J(s) := 1 - s^2 - \frac{2}{n+1} (1 - s^{p+1}),$$

(2.8)
$$B_{\alpha}(s) := 1 - s^2 - \frac{2}{\lambda \|u_{\alpha}\|_{\infty}^2} (F(\|u_{\alpha}\|_{\infty}) - F(\|u_{\alpha}\|_{\infty}s)),$$

(2.9)
$$M_{\alpha} := \int_{0}^{1} \left(\frac{1 - s^{q}}{\sqrt{B_{\alpha}(s)}} - \frac{1 - s^{q}}{\sqrt{J(s)}} \right) ds.$$

Lemma 2.1. $f'(\alpha) \leq C\alpha^{p-1}$ for $\alpha \gg 1$.

Lemma 2.1 is proved by direct calculation. So we omit the proof. By (A.3) and Lemma 2.1, for $\alpha \gg 1$,

$$(2.10) C^{-1}\alpha^{p-1} \le \lambda \le C\alpha^{p-1},$$

$$(2.11) C^{-1}\alpha^p \le f(\alpha) \le C\alpha^p,$$

$$(2.12) C^{-1}\alpha^{p-1} \le g(\alpha) \le C\alpha^{p-1}.$$

The following Lemma 2.2 plays essential roles to prove Theorem 1.2.

Lemma 2.2.
$$M_{\alpha} = O(g(\alpha)^{-1/2})$$
 as $\alpha \to \infty$.

We tentatively accept this lemma and prove Theorem 1.2. Lemma 2.2 will be proved in Section 3.

Proof of Theorem 1.2. By Lemma 2.2 and Taylor expansion, for $\alpha \gg 1$,

$$(2.13) ||u_{\alpha}||_{\infty} = \alpha \left(1 - \frac{2}{\sqrt{\lambda}}(C_2 + M_{\alpha})\right)^{-1/q}$$

$$= \alpha \left(1 + \frac{2}{q\sqrt{\lambda}}(C_2 + M_{\alpha}) + \frac{2(q+1)}{q^2\lambda}(C_2 + M_{\alpha})^2(1 + o(1))\right).$$

By this, Lemmas 2.1 and 2.2,

$$\lambda = \frac{f(\|u_{\alpha}\|_{\infty})}{\|u_{\alpha}\|_{\infty}} + \xi_{\alpha}$$

$$= \frac{1}{\alpha} \left(1 - \frac{2}{q\sqrt{\lambda}} (C_2 + M_{\alpha}) + O(\alpha^{1-p}) \right) \left(f(\alpha) + \frac{2\alpha}{q\sqrt{\lambda}} f'(\alpha) (C_2 + M_{\alpha}) + O(\alpha) \right) + \xi_{\alpha}$$

$$= \frac{f(\alpha)}{\alpha} + \frac{2C_2}{q\sqrt{\lambda}} \left(f'(\alpha) - \frac{f(\alpha)}{\alpha} \right) + M_{\alpha} \frac{2C_2}{q\sqrt{\lambda}} \left(f'(\alpha) - \frac{f(\alpha)}{\alpha} \right) + O(1)$$

$$= \frac{f(\alpha)}{\alpha} + \frac{2C_2}{q} \left(f'(\alpha) - \frac{f(\alpha)}{\alpha} \right) (g(\alpha) + Ag(\alpha)^{1/2} + O(1))^{-1/2} + O(1)$$

$$= \frac{f(\alpha)}{\alpha} + \frac{2C_2}{q\sqrt{g(\alpha)}} \left(f'(\alpha) - \frac{f(\alpha)}{\alpha} \right) + O(1).$$

$$= g(\alpha) + Ag(\alpha)^{1/2} + O(1).$$

This implies that for $\alpha \gg 1$

(2.15)
$$f'(\alpha) - r \frac{f(\alpha)}{\alpha} = O(\sqrt{g(\alpha)}),$$

where $r := 1 + (qA)/(2C_2)$. Then we solve (2.15) directly, and easily obtain that r = p, and for $\alpha \gg 1$

$$(2.16) f(\alpha) = D\alpha^p + O(\alpha^{(p+1)/2}),$$

where D > 0 is an arbitrary constant. Thus the proof is complete.

3 Proof of Lemma 2.2.

In this section, we prove Lemma 2.2. Let an arbitrary $0 < \epsilon \ll 1$ be fixed. For $0 \le s \le 1$, we put

(3.1)
$$K_{\alpha}(s) := J(s) - B_{\alpha}(s)$$

$$= \frac{2}{\lambda \|u_{\alpha}\|_{\infty}^{2}} \left\{ F(\|u_{\alpha}\|_{\infty}) - F(\|u_{\alpha}\|_{\infty}s) \right\} - \frac{2}{p+1} (1 - s^{p+1}).$$

Then

$$(3.2) M_{\alpha} = \int_{0}^{1} \frac{(1-s^{q})K_{\alpha}(s)}{\sqrt{J(s)}\sqrt{B_{\alpha}(s)}(\sqrt{J(s)}+\sqrt{B_{\alpha}(s)})} ds$$

$$= \int_{1-\epsilon}^{1} \frac{(1-s^{q})K_{\alpha}(s)}{\sqrt{J(s)}\sqrt{B_{\alpha}(s)}(\sqrt{J(s)}+\sqrt{B_{\alpha}(s)})} ds$$

$$+ \int_{\epsilon}^{1-\epsilon} \frac{(1-s^{q})K_{\alpha}(s)}{\sqrt{J(s)}\sqrt{B_{\alpha}(s)}(\sqrt{J(s)}+\sqrt{B_{\alpha}(s)})} ds$$

$$+ \int_{0}^{\epsilon} \frac{(1-s^{q})K_{\alpha}(s)}{\sqrt{J(s)}\sqrt{B_{\alpha}(s)}(\sqrt{J(s)}+\sqrt{B_{\alpha}(s)})} ds$$

$$:= M_{1,\alpha} + M_{2,\alpha} + M_{3,\alpha}.$$

Lemma 3.1. For $\alpha \gg 1$

(3.3)
$$|M_{1,\alpha}| = O(g(||u_{\alpha}||_{\infty})^{-1/2}).$$

Proof. By (3.1),

(3.4)
$$\frac{K'_{\alpha}(s)}{2} = -\frac{f(\|u_{\alpha}\|_{\infty}s)}{\lambda\|u_{\alpha}\|_{\infty}} + s^{p}.$$

This implies that

$$\frac{K_{\alpha}'(1)}{2} = \frac{\xi_{\alpha}}{\lambda}.$$

Since f(u) = g(u)u, for $1 - \epsilon \le s \le 1$, by Taylor expansion, we obtain

$$\frac{K_{\alpha}''(s)}{2} = -\frac{f'(\|u_{\alpha}\|_{\infty}s)}{\lambda} + ps^{p-1}$$

$$(3.6) = -\frac{g'(\|u_{\alpha}\|_{\infty}s)\|u_{\alpha}\|_{\infty}s + g(\|u_{\alpha}\|_{\infty}s)}{g(\|u_{\alpha}\|_{\infty}) + \xi_{\alpha}} + ps^{p-1}$$

$$= -\frac{g'(\|u_{\alpha}\|_{\infty}s)\|u_{\alpha}\|_{\infty}s + g(\|u_{\alpha}\|_{\infty}s)}{g(\|u_{\alpha}\|_{\infty})} \left(1 - \frac{\xi_{\alpha}}{g(\|u_{\alpha}\|_{\infty})}(1 + o(1))\right) + ps^{p-1}.$$

We put

(3.7)
$$H(s,u) = ps^{p-1}\frac{h(us)}{h(u)} + us^{p}\frac{h'(us)}{h(u)}.$$

For $u \gg 1$,

(3.8)
$$g'(u) = (p-1)u^{p-2}h(u) + u^{p-1}h'(u).$$

By this and (3.6), we obtain

(3.9)
$$\frac{K_{\alpha}''(s)}{2} = -H(s, \|u_{\alpha}\|_{\infty}) \left(1 - \frac{\xi_{\alpha}}{g(\|u_{\alpha}\|_{\infty})} (1 + o(1))\right) + ps^{p-1}.$$

$$= ps^{p-1} \left(1 - \frac{h(\|u_{\alpha}\|_{\infty}s)}{h(\|u_{\alpha}\|_{\infty})}\right) - \|u_{\alpha}\|_{\infty}s^{p} \frac{h'(\|u_{\alpha}\|_{\infty}s)}{h(\|u_{\alpha}\|_{\infty})}$$

$$+ \frac{\xi_{\alpha}}{g(\|u_{\alpha}\|_{\infty})} H(s, \|u_{\alpha}\|_{\infty}) (1 + o(1)).$$

By this and mean value theorem, for $1 - \epsilon < s < s_1 < s_2 < 1$, we obtain

$$(3.10) \quad \frac{K_{\alpha}''(s_{1})}{2} = ps_{1}^{p-1} \left(1 - \frac{h(\|u_{\alpha}\|_{\infty}s_{1})}{h(\|u_{\alpha}\|_{\infty})} \right) - \|u_{\alpha}\|_{\infty} s_{1}^{p} \frac{h'(\|u_{\alpha}\|_{\infty}s_{1})}{h(\|u_{\alpha}\|_{\infty})}$$

$$+ \frac{\xi_{\alpha}}{g(\|u_{\alpha}\|_{\infty})} H(s_{1}, \|u_{\alpha}\|_{\infty})(1 + o(1))$$

$$= ps_{1}^{p-1} \left(\frac{h'(\|u_{\alpha}\|_{\infty}s_{2})}{h(\|u_{\alpha}\|_{\infty})} \right) \|u_{\alpha}\|_{\infty} (1 - s_{1}) - \|u_{\alpha}\|_{\infty} s_{1}^{p} \frac{h'(\|u_{\alpha}\|_{\infty}s_{1})}{h(\|u_{\alpha}\|_{\infty})}$$

$$+ \frac{\xi_{\alpha}}{g(\|u_{\alpha}\|_{\infty})} H(s_{1}, \|u_{\alpha}\|_{\infty})(1 + o(1))$$

$$= O(g(\|u_{\alpha}\|_{\infty})^{-1/2})) + O\left(\frac{\xi_{\alpha}}{g(\|u_{\alpha}\|_{\infty})}\right)$$

$$= O(g(\|u_{\alpha}\|_{\infty})^{-1/2})).$$

Since $K_{\alpha}(1) = 0$, by (3.5), (3.10) and Taylor expansion, for $1 - \epsilon \le s \le 1$,

(3.11)
$$\frac{K_{\alpha}(s)}{2} = \frac{1}{2} \left(K_{\alpha}(1) + K'_{\alpha}(1)(s-1) + \frac{1}{2} K''_{\alpha}(s_1)(s-1)^2 \right)$$
$$= \frac{\xi_{\alpha}}{2\lambda} (s-1) + O(g(\|u_{\alpha}\|_{\infty})^{-1/2}))(s-1)^2.$$

By this, (3.1) and Taylor expansion, for $1 - \epsilon \le s \le 1$,

$$(3.12) J(s) \geq (p-1-\delta_1)(1-s)^2.$$

(3.13)
$$B_{\alpha}(s) = J(s) - K_{\alpha}(s) \ge \frac{\xi_{\alpha}}{\lambda} (1 - s) + \frac{\delta_{1}}{2} (1 - s)^{2}.$$

Then we obtain

$$|M_{1,\alpha}| \leq \int_{1-\epsilon}^{1} \frac{(1-s^{q})|K_{\alpha}(s)|}{J(s)\sqrt{B_{\alpha}(s)}} ds$$

$$\leq C \int_{1-\epsilon}^{1} \frac{(\xi_{\alpha}/(\lambda) + O(g(\|u_{\alpha}\|_{\infty}^{-1/2}))(1-s)}{\sqrt{(\xi_{\alpha}/\lambda)(1-s) + (\delta_{1}/2)(1-s)^{2}}} ds$$

$$= C \int_{1-\epsilon}^{1} \sqrt{\frac{\xi_{\alpha}}{\lambda}} \frac{1}{\sqrt{1-s}} ds + O(g(\|u_{\alpha}\|_{\infty})^{-1/2}) \int_{1-\epsilon}^{1} \frac{1-s}{\sqrt{(\delta_{1}/2)(1-s)^{2}}} ds$$

$$\leq C \left(\sqrt{\frac{\xi_{\alpha}}{\lambda}} + O(g(\|u_{\alpha}\|_{\infty})^{-1/2})\right) = O(g(\|u_{\alpha}\|_{\infty})^{-1/2}).$$

Thus the proof is complete.

Lemma 3.2. $M_{2,\alpha} = O(g(\|u_{\alpha}\|_{\infty})^{-1/2}) \text{ as } \alpha \to \infty.$

Proof. Since $f(u) = u^p h(u)$, for $0 \le s \le 1 - \epsilon$,

$$(3.15) K_{\alpha}(s) = \frac{1}{\lambda \|u_{\alpha}\|_{\infty}^{2}} \int_{\|u_{\alpha}\|_{\infty}}^{\|u_{\alpha}\|_{\infty}} t^{p} h(t) dt - \frac{1}{p+1} (1 - s^{p+1})$$

$$= \frac{1}{(p+1)\lambda \|u_{\alpha}\|_{\infty}^{2}} \left\{ \left[t^{p+1} h(t) \right]_{\|u_{\alpha}\|_{\infty}}^{\|u_{\alpha}\|_{\infty}} - \int_{\|u_{\alpha}\|_{\infty}}^{\|u_{\alpha}\|_{\infty}} t^{p+1} h'(t) dt \right\}$$

$$- \frac{1}{p+1} (1 - s^{p+1}).$$

Since $\xi_{\alpha} > 0$, for $\epsilon \leq s \leq 1 - \epsilon$,

$$\frac{1}{\lambda \|u_{\alpha}\|_{\infty}^{2}} \left| \int_{\|u_{\alpha}\|_{\infty}s}^{\|u_{\alpha}\|_{\infty}} t^{p+1} h'(t) dt \right| \leq \frac{1}{h(\|u_{\alpha}\|_{\infty}) \|u_{\alpha}\|_{\infty}^{p+1}} \int_{\|u_{\alpha}\|_{\infty}s}^{\|u_{\alpha}\|_{\infty}} |t^{p+1} h'(t)| dt
\leq \max_{\epsilon \leq s \leq 1} \left| \frac{\|u_{\alpha}\|_{\infty} h'(\|u_{\alpha}\|_{\infty}s)}{h(\|u_{\alpha}\|_{\infty})} \right| (1-s)
= O(g(\|u_{\alpha}\|_{\infty})^{-1/2}).$$

By this and mean value theorem, for $\epsilon \leq s < s_1 < 1 - \epsilon$,

$$\left| \frac{K_{\alpha}(s)}{2} \right| \leq \frac{1}{(p+1)\lambda \|u_{\alpha}\|_{\infty}^{2}} \left\{ \|u_{\alpha}\|_{\infty}^{p+1} h(\|u_{\alpha}\|_{\infty}) - \|u_{\alpha}\|_{\infty}^{p+1} s^{p+1} h(\|u_{\alpha}\|_{\infty} s) \right\}$$

$$(3.17) +O(g(\|u_{\alpha}\|_{\infty})^{-1/2}) - \frac{1}{p+1}(1-s^{p+1})$$

$$\leq \frac{1}{p+1}(1-s^{p+1})\left(\frac{\|u_{\alpha}\|_{\infty}^{p-1}h(\|u_{\alpha}\|_{\infty})}{\lambda} - 1\right)$$

$$+ \frac{\|u_{\alpha}\|_{\infty}^{p-1}s^{p+1}}{\lambda(p+1)}(h(\|u_{\alpha}\|_{\infty}) - h(\|u_{\alpha}\|_{\infty}s) + O(g(\|u_{\alpha}\|_{\infty})^{-1/2})$$

$$\leq \frac{\xi_{\alpha}}{(p+1)\lambda}(1-s^{p+1}) + \left|\frac{\|u_{\alpha}\|_{\infty}h'(\|u_{\alpha}\|_{\infty}s_{1})}{h(\|u_{\alpha}\|_{\infty})}\right| + O(g(\|u_{\alpha}\|_{\infty})^{-1/2})$$

$$= O(g(\|u_{\alpha}\|_{\infty})^{-1/2}).$$

Note that for $0 \le s \le 1 - \epsilon$,

$$(3.18) J(s) \ge \delta_2 > 0.$$

By this and (3.14), for $\epsilon \leq s \leq 1 - \epsilon$ and $\alpha \gg 1$,

$$(3.19) B_{\alpha}(s) \ge J(s) - K_{\alpha}(s) \ge \frac{\delta_2}{2} > 0.$$

Then by this and direct calculation, we obtain

$$|M_{2,\alpha}| \le C \int_{\epsilon}^{1-\epsilon} |K_{\alpha}(s)| (1-s^q) ds = O(g(||u_{\alpha}||_{\infty})^{-1/2}).$$

Thus the proof is complete.

Lemma 3.3.
$$M_{3,\alpha} = O(g(\|u_{\alpha}\|_{\infty})^{-1/2})$$
 as $\alpha \to \infty$.

The proof of Lemma 3.3 is similar to that of Lemma 3.2. So we omit the proof. Since $\alpha = ||u_{\alpha}||_{\infty} (1 + o(1))$, Lemma 2.2 follows from Lemmas 3.1-3.3. Thus the proof is complete.

References

- [1] H. Berestycki, Le nombre de solutions de certains problèmes semi-linéares elliptiques, J. Funct. Anal. 40 (1981), 1-29.
- [2] A. Bongers, H.-P. Heinz, T. Küpper, Existence and bifurcation theorems for nonlinear elliptic eigenvalue problems on unbounded domains, J. Differential Equations 47 (1983), 327–357.

- [3] J. Chabrowski, On nonlinear eigenvalue problems, Forum Math. 4, (1992) 359-375.
- [4] R. Chiappinelli, Remarks on bifurcation for elliptic operators with odd nonlinearity, *Israel J. Math.* **65** (1989), 285–292.
- [5] R. Chiappinelli, On spectral asymptotics and bifurcation for elliptic operators with odd superlinear term, *Nonlinear Anal.* **13** (1989), 871–878.
- [6] R. Chiappinelli, Constrained critical points and eigenvalue approximation for semilinear elliptic operators, *Forum Math.* **11** (1999), 459–481.
- [7] J. M. Fraile, J. López-Gómez, J. C. Sabina de Lis, On the global structure of the set of positive solutions of some semilinear elliptic boundary value problems, J. Differential Equations 123 (1995), 180–212.
- [8] H.-P. Heinz, Free Ljusternik-Schnirelman theory and the bifurcation diagrams of certain singular nonlinear problems, *J. Differential Equations* **66** (1987), 263–300.
- [9] H.-P. Heinz, Nodal properties and bifurcation from the essential spectrum for a class of nonlinear Sturm-Liouville problems, J. Differential Equations 64 (1986), 79 108.
- [10] H.-P. Heinz, Nodal properties and variational characterizations of solutions to nonlinear Sturm-Liouville problems, J. Differential Equations 62 (1986), 299–333.
- [11] M. Holzmann, H. Kielhöfer, Uniqueness of global positive solution branches of nonlinear elliptic problems, *Math. Ann.* **300** (1994), 221–241.
- [12] P. Rabinowitz, A note on a nonlinear eigenvalue problem for a class of differential equations, J. Differential Equations 9 (1971), 536-548.
- [13] P. Rabinowitz, Some global results for nonlinear eigenvalue problems, J. Funct. Anal.7 (1971), 487–513.
- [14] T. Shibata, Three-term spectral asymptotics for nonlinear Sturm-Liouville problems, NoDEA Nonlinear Differential Equations Appl. 9 (2002), 239–254.

- [15] T. Shibata, Precise spectral asymptotics for nonlinear Sturm-Liouville problems, J. Differential Equations 180 (2002), 374–394.
- [16] T. Shibata, New Asymptotic Formula for Eigenvalues of Nonlinear Sturm-Liouville Problems, J. Anal. Math. 102 (2007), 347–358.
- [17] T. Shibata, Global behavior of the branch of positive solutions for nonlinear Sturm-Liouville problems, Ann. Mat. Pura Appl. 186 (2007), 525-537.
- [18] T. Shibata, Global behavior of the branch of positive solutions to a logistic equation of population dynamics, *Proc. Amer. Math. Soc.* **136** (2008), 2547–2554.
- [19] T. Shibata, L^q -inverse spectral problems for semilinear Sturm-Liouville problems, Non-lin. Anal. **69** (2008), 3601–3609.
- [20] T. Shibata, Inverse eigenvalue problems for semilinear elliptic eigenvalue problems, Electron. J. Diff. Equ. 2009(2009), No. 107, 1-11.
- [21] P. Zhidkov, On an inverse eigenvalue problem for a semilinear Sturm-Liouville operator, *Nonlin. Anal.* **68** (2008), 639–644.